

City of West Allis Matter Summary

7525 W. Greenfield Ave. West Allis, WI 53214

File Number R-2010-0123		Title Status							
		Resolution Introduced							
COMMITTEE	RECOMM	Resolution to appinspection of stor 108 St. to approx. 110 St. from W. F. St. to W. Lincoln Introduced: 5/18/2	rm sewers in W. I. 100' west of S. Becher St. to approach Ave. within the Common services.	Becher St. from S 111 St.; S. 109 S rox. 150' south of City of West Allia Cont	S. 108 St. to St. from W. I St. from W. I St. Grant St. in the amo crolling Body	S. 111 St.; W. Gra Becher St. to W. I t. and S. 111 St. f	ant St. from S. Lincoln Ave.; S. from W. Becher 10.		
	MOVED	CECOMPED		AWIE					
ACTION	MOVER	SECONDER	Barczak	AYE	NO	PRESENT	EXCUSED		
DATE:			Czaplewski						
5/1			Kopplin						
1/8/2010			Lajsic						
			Narlock						
			Reinke						
			Roadt	~					
			Sengstock Vitale	Excused			V		
			Weigel						
				11			1		
SIGNATURE O	e cammi	TTEE MEMDE	TOTAL						
Aund	Brace	TEE WEMBE	A						
Chair		Vice-	Chair		Memb	per			
COMMON CO	UNCIL AC	CTION		ADOP	T				
ACTION	MOVER	SECONDER		AYE	NO	PRESENT	EXCUSED		
DATE:		-	Barczak						
21112.			Czaplewski						
MAY 1 8 2010		-	Kopplin Lajsic			-			
		V	Narlock						
			Reinke						
			Roadt						
			Sengstock				1		
			Vitale						
	-		Weigel						
			TOTAL	9			,		
			IUIAL						



City of West Allis

7525 W. Greenfield Ave. West Allis, WI 53214

Resolution

File Number: R-2010-0123

Final Action:

Sponsor(s):

Public Works Committee

MAY 1 8 2010

Resolution to approve bid of National Power Rodding Corp. for cleaning and closed circuit TV inspection of storm sewers in W. Becher St. from S. 108 St. to S. 111 St.; W. Grant St. from S. 108 St. to approx. 100' west of S. 111 St.; S. 109 St. from W. Becher St. to W. Lincoln Ave.; S. 110 St. from W. Becher St. to approx. 150' south of W. Grant St. and S. 111 St. from W. Becher St. to W. Lincoln Ave. within the City of West Allis, in the amount of \$104,356.40.

WHEREAS, The Board of Public Works reports that it duly advertised for bids for the furnishing of certain materials and the performance of all work required for the improvements in a certain area as hereinafter described; that the bids received as shown on the attached bid report were reasonable and hereby recommends and deems it to be for the best interests of the City of West Allis that National Power Rodding Corp. for 2010 Project No. 5 be accepted.

NOW, THEREFORE, BE IT RESOLVED By the Common Council of the City of West Allis that the bid of National Power Rodding Corp. for 2010 Project No. 5 for cleaning and closed circuit TV inspection of storm sewers in:

- W. Becher St. from S. 108 St. to S. 111 St.;
- W. Grant St. from S. 108 St. to approx. 100' west of S. 111 St.;
- S. 109 St. from W. Becher St. to W. Lincoln Ave.;
- S. 110 St. from W. Becher St. to approx. 150' south of W. Grant St. and
- S. 111 St. from W. Becher St. to W. Lincoln Ave

for the sum of One Hundred Four Thousand Three Hundred Fifty-Six and 40/100 dollars (\$104,356.40)

be accepted, and the proper City officers are hereby authorized and directed to enter into contractual relations with said contractor for the performance of said work, in accordance with the prices submitted in their proposal and with the specifications of the City of West Allis, and that all other bids received for same be rejected; and,

BE IT FURTHER RESOLVED That said improvements be installed with funding by Storm Water Management Funds.

ADOPTED MAY 18 2010

Paul M. Ziehler, City Admin. Officer, Clerk/Treas.

APPROVED

5/21/10

Dan Devine, Mayor

CITY OF WEST ALLIS 2010 Project No. 5 Bid Opening - 05/13/10

CLEANING AND CLOSED CIRCUIT TV INSPECTION OF STORM SEWERS

- W. Becher St. from S. 108th St. to S. 111th St.
- W. Grant St. from S. 108th St. to Approx. 100' W. of S. 111th St.
- S. 109th St. from W. Becher St. to W. Lincoln Ave.
- S. 110th St. from W. Becher St. to Approx. 150' South of W. Grant St.
- S. 111th St. from W. Becher St. to W. Lincoln Ave.

Bid Bond 5%

National Power Rodding Corp. 2500 W. Arthington St. Chicago, IL 60612

	ITEM	UN	ITS	PRICE	TOTAL
1	Cleaning of 12" dia. Storm Sewer	976	lin. ft.	1.50	1,464.00
2	Cleaning of 15" dia. Storm Sewer	1,353	lin. ft.	3.84	5,195.52
3	Cleaning of 18" dia. Storm Sewer	654	lin. ft.	4.97	3,250.38
4	Cleaning of 21" dia. Storm Sewer	155	lin. ft.	3.00	465.00
5	Cleaning of 24" dia. Storm Sewer	72	lin. ft.	6.00	432.00
6	Cleaning of 27" dia. Storm Sewer	293	lin. ft.	3.00	879.00
7	Cleaning of 30" dia. Storm Sewer	620	lin. ft.	6.00	3,720.00
8	Cleaning of 36" dia. Storm Sewer	983	lin. ft.	21.00	20,643.00
9	Cleaning of 42" dia. Storm Sewer	301	lin. ft.	24.00	7,224.00
10	Cleaning of 48"x76" Storm Sewer	637	lin. ft.	81.63	51,998.31
11	Closed Circuit TV Inspection of Storm Sewer <48" dia	5,407	lin. ft.	1.50	8,110.50
12	Closed Circuit TV Inspection of Storm Sewer >48" dia	637	lin. ft.	1.50	955.50
13	Removal of Storm Sewer Debris	1,919	tons	0.01	19.19
					104,356.40